ILLUSTRATION BOOKLET

PARTS PICTORIAL
aD D

9 "5 & &

G

,._
([ {

<

D

ALWAYS IDENTIFY AN I.C BY THE
PART NUMBER OR THE TYPE NUMBER
NOTE: THE STYLE MAY BE SLIGHTLY
DIFFERENT THAN SHOWN.

Copyright © 1985

Heath Company

All Rights Reserved

Model HDA-4040-1 Printed in the United States of America



A GOOD SOLDER CONNECTION

l———————_—-—-——-———-ﬂ

SOLDER FLOWS OUTWARD
AND GRADUALLY BLENDS
WITH THE FOIL AND THE

’
e

TR I

7+ »° SOLDERING
;/L‘IRON POSITONED

CORRECTLY

’
-

— — — — —
-
™
>
=

Page 2

| When you heat the lead and the circuit board foil at the same
| time, the solder will flow evenly onto the lead and the foil. |

| The solder will make a good electrical connection between |

Lthe lead and the foil.
POOR SOLDER CONNECTIONS

P_-______—___—-——___—-—_____——-—_ — —

l SOLDER DOES NOT FLOW

ONTO LEAD. A DARK ROSIN L
|  BEAD SURROUNDS AND IN- ooy e,
SULATES THE LEAD FROM +77 SOLDERING
| 57" IRON
| L/t A=—POSITIONED
o INCORRECTLY

THE CONNECTION,
FOIL

When the lead is not heated sufficiently, the solder
swill not flow onto the lead as shown above. To cor-
rect, reheat the connection and, if necessary, apply a

" SOLDERING =
“<.

SOLDER APPEARS TO FLOW Je N IRON

INWARD AND SET ON TOP S S Z—POSITIONED

OF FOIL /7,7 INCORRECTLY

When the foil is not heated sufficiently the solder will
blob on the circuit board as shown above. To correct,
reheat the connection and, if necessary, apply a small

small amount of additional solder to obtain a good amount of additional solder to obtain a good connec-
Lconnection. tion.

L = o s e it

SOLDER BRIDGES

A solder bridge between two adjacent foils is shown
in photograph A. Photograph B shows how the con-
nection should appear. A solder bridge may occur if
you accidentally touch an adjacent previously sol-
dered connection, if you use too much solder, or if
you “‘drag" the soldering iron across other foils as you
remove it from the connection. A good rule to follow
is: always take a good look at the foil area around each
lead before you solder it. Then, when you solder the
connection, make sure the solder remains in this area
and does not bridge to another foil. This is especially
important when the foils are small and close together.
NOTE: It is alright for solder to bridge two connec-
tions on the same foil.

PICTORIAL 1-1

SOLDER
BRIDGE

Use only enough solder to make a good connection,

and lift the soldering iron straight up from the circuit B
board. If a solder bridge should develop, turn the

circuit board foil-side-down and heat the solder be-

tween connections. The excess solder will run onto

the tip of the soldering iron, and this will remove the

solder bridge. NOTE: The foil side of most circuit

boards has a coating on it called 'solder resist.” This

is a protective insulation to help prevent solder

bridges.

Figure 1



PICTORIAL 1-2

Page 3

IC INSTALLATION

CAUTION: Integrated circuits (ICs) are complex
electrical devices that perform many complicated
operations in a circuit. These devices can be dam-
aged during installation. Read all of the following
information before you install the ICs.

IMPORTANT: An IC packaged in conductive foam
can be damaged by static electricity once you re-
move the IC. Once removed, do not lay the IC down
or let go of it until you install it in its socket. When
you bend the leads of the IC, hold it in one hand
and place the other hand on the work surface before
vou touch the IC to that surface. This will equalize
the static electricity between the work surface and
the IC.

The pins of the ICs may be bent out at an angle as
shown in A; if this is the case, they will not line
up with the holes in the IC socket. Before you install
an IC, lay it down on its side as shown in B and
very carefully roll it toward the pins to bend the
lower pins into line. Then turn the IC over and bend
the pins on the other side in the same manner.

Before you install an IC, you must first identify the
pin 1 end. Make sure this end of the IC is positioned
over the index mark on the circuit board, as shown.
Also make sure that all of the pins are started into
the socket. NOTE: An IC pin can become bent under
the IC and it will appear as though it is correctly
installed in the socket.

SMALL NOTCH
INDENTATION DEOT
; S"/‘ / =
PIN1 PIN1 PIN1
RIDGE
PINT PIN1

INDEX
MARK

.W[f[i[ig

N
33

&b

’ PIN 1

SOCKET MARK

If it ever becomes necessary to remove an IC from
its socket, insert the end of a screwdriver blade
under the IC and gently move it up and down until
the pins are free of the socket holes. Then carefully
remove the IC.

Figure 2




PART A

=Nl

2-HOLE Page 4
L~ SHELL
l4 5’ 7
7 PART A
4—3-1:2'*5’473-”2'—1- 53 é;"c{) /
57 7S S 3-1/2" >
E _%J Q‘e‘b‘x
‘ 3 -— 3/4" - 1-1/2"— >
12" 8-~WIRE FLAT CABLE .
= |¢”4- 1/8 o
=]
3-1/2" S
PART B 5" BRN-RED WIRE PAIR F&‘TW(';EBLE =~ -
—_— 3 = T
RED —
= ————— %
ORe—E=————noecann——— == 3-1/2"
F 8-WIRE FLAT CABLE =
3/4" e 3/4" =~
PART C 174" fe— 1/4* C GPN END A END B
= - 2D Z 4
= o JEuw
S-D 0o
PART B
—F
CRIMP OVER
. E CRIMP AROUND
- RED N BARE END
Detail 1-3A /0 mss%l.ggg CSSIER A
f = \
O BRN — | USpN SPRING
D ONOE = CONNECTOR
GET SOLDER UNDER
= THE SPRING
2-WIRE
FLAT CABLE
Detail 1-3B
- 24" =
l-——— 1" | [poe——
1/4° 1/4"° - 24"
7-WIRE
= = FLAT CABLE
—
— = =
e —
—— e =—J== AN
— =
= ——1
\ L]
Detail 1-3D Detail 1-3C

PICTORIAL 1-3



é FOLD SHORT

CABLES TOWARD

é REAR OF CIRCUIT BOARD
/"’\ é 6-32 NUT

CIRCUIT
\ BOARD
1/8"° -

-~
—-"-m

174" —> |-—O O ~—~‘

-—1/4"

LONG 7-WIRE

\ b CABLE
i

: " alo N0
So OO Vi
iar—e] o S

6-32 NUT
t—— 1/4"

( J_L O 5 R Q ’ /

#6 LOCKWASHER
\

LONGER Bt
\\\\\
TO LEFT EJ" \"
]
g o
@ ||
I

PICTORIAL 1-4

PICTORIAL 1-5

Page 5



D1 D2 D6
CONNECTED SONKECT et
V'OL'GR"’\ ATTEMPT RED-BRN
LY BHN'RED ,l
D3
DISCONNECT
IN PROGRESS / D5 D7
BLU-GRN FRMR . ot
D4 LL OfQ-rEL YEL-ORG
DISCONNECTED
GRY-VIOL
D8
BUFFER

GRN-BLU

2 4 RS-232
GRN ORG CONNECTOR

2 |
@ 43 /\ = \‘ ‘! = ==
[ SPEAKER | \\ et S0
: CONNEPCUTst;'R INTO Q) < 0000000000000
NG 2 0P 00Q000000Q

6-32x3/8" HOLE UNTIL IT o
SCREW ~J LATCHES 0\ / i \ ] \
15 16 18 23 4
YEL BLU RED  BRN vioL
S
SPEAKER . .

BRACKET \ .
Detail 1-6A

#6 LOCKWASHER /

PULL TIGHT AND CUT OFF
EXCESS CABLE TIE END \ﬁ
\ LARGE

RF CORE

it

6-32 NUT /{"ﬂ e a
® ¢ o=
/ \ = >
2-5/8" NYLON GASKET \\\\\\&&—’"—’_{///”//// /

PICTORIAL 1-6

Page 6



STATUS
INDICATOR
CIRCUIT BOARD

GROUND

LL

HD-4040 TNC

PARALLEL
® @ (e ot
(cecocccoocooooo

(eeee)D

RS-232
CONNECTOR

] ﬁﬁm‘:\\\% :
7 Ifo 000 O
&g %’/ \Corstssesse) —

/

23

PICTORIAL 2-1

Page 7



CABINET
EOR

+#6x1/4"
SHEET METAL
SCREW

PICTORIAL 3-1

CHASSIS
ASSEMBLY

(—

Heath nos-10s04

TNC STATUS INDICATOR

O CMD: O CONV

0]

BUFFER o FRAMR

o CONNECTED

O CONNECT
ATTEMPT

o DISCONNECT
IN PROGRESS

®) DISCONNECTED

gl =

PICTORIAL 4-1

i T )

Page 8



l“"""'"""“"'"'"""""c;'A'F;E) """"""" = ""““""“'““"’@“"@)‘"'“@"‘"@'""@)’ """" R
MAIN CIRCUIT B '
cm?-[__"cmar'cwa -L_“ (,1:!—E“c:12r

---i----.
.01 o) g 01 g .01 g .01 g ng

]
I
]
1
1
H
: b
| ' S Q103 cna3
: ci101 417-801 g L4
- .01
Ri11
| Aot g Q101 ok 3
| 1000 A= ks w102
1 16 14 15 13
! 8
- + U102
1 7 4 443-87
; U101 R106 12
i 10K 3 s 4
R102 6“3 53 e = Qi1o2 E
Ate0 \v4 417-80

2 1 3
cio02
o
+
ci103

| FeE
: . ¥ 010
J_ 56-56
C‘Oﬁg R107 4 RI0OB R1OS

SCHEMATIC OF THE
HEATHKIT®
TNC STATUS INDICATOR
MODEL HDA-4040-1

NOTES:

1. All resistors are rated at 1/4-watt, and have a 5% tolerance unless
otherwise noted (K = 1000).

560 $ 220 2 560

2. Capacitor values are in uF (microfarads).
3.  The following symbols are used on this schematic diagram:

\/ Circuit board ground.

[ e o e e e e

-

(E ; j)' ) @ (5 > OO @ (Lettered) A circuit board wire connection to a chassis-
C T - - - E - - - - ] o [ ] o - L - - - - - -
=S ﬂg-ncs) (A>B-RN 0:G<B> VlO{L,c} BL-UC?)- BREE)- \l"lOLF D1 GRY RED GRN GRY YEL YEL BLU ounted | nent.

RED CONNECTED

3 BUFFER (Numbered) A circuit board wire connecton to a like number

02 {3
YEL" CONNECT ATTEMPT on TNC para"el pon P1 .
SEEAKER D3 f DISCONNECT IN

= =M PROGRESS N ombs O A DC voltage reading taken with a high input impedance
D4 “ digital voltmeter from the point indicated to chassis ground.
GRN DISCONNECTED Voltages may vary = 10%.
os 4
= N— 4.  Refer to the “Circuit Board X-Ray View" on Manual Page 23 for

FAMR

the physical locations of parts.

Page 9



| . ’ .
Y ;_;ﬁé
— i - -

e ] ‘I‘ivll Shir = .
o L oy Gy
| CER 0w o, SRR g i
P A

{
1 ‘:L wm el SR
m#m-ﬁ-«i—:wmmﬂﬂ

C“WMP'\ W

apmwme e & - woddtdal) 1-38
Wi SRl s U e B el TR AU, AT

T o i

) o
b \ __‘-‘ﬂ"
\ -:I.s __-*
o o

o “W;A'&’i‘“
ﬁewvucm: AME

Frotall 1042 : ; |

I
: I




(uig-njg-wib) 1J 095

(610-31g-w19) T 0}

(B10-319-wiq) B 0L

(B10-ia-wia) 13 01

(Bio-pas-pai) 1 g2

(pas-jon-1h) 1 00LY

(Pes-4g-uiq) 1 0004

(pau-joiA-1@A) 15 00LY

(wig-nig-uib) 15 095

(uig-pai-pey) 13 022

(Bio-3ig-w1a) 1% O}

(9G-9G+#) epoip WE6riIPNL : 10LA

(wig-njg-wb) 1y 095

iieveq Bujdey

= 1dv1

INDISYW

2dV1 343H 1nd

a3yvo103d

(wig-njg-wB) 15 095

‘umors se adej ay) jo adpe apisul
8y} je spee| 8y} INY) ‘SUONINNSUL A|UUBsSe ay) Ul 10§
pajeo st 3t se jed yoea saowels 0] s1ano [euoderp
8s(] 'UONDAUUOD JOPJOS JUSNTWLIBIUL UB asned
pinoo ade) ay) ay) woay anpisal wnd ‘ade) ay) woij
aa1) syjusuodwoo ayy [nd o) jdwane 1AaN HLON

‘SUOTIONASUl A[qUISSSE ay) Ul 10§
pajieo are Aay) mun dins ayy wodij syed Aue aaow
-81 J0u O(] "UOIY8s Yoea udi[e o) ‘Aiessavau se ‘ade)
ay} Ny ‘sBuimesp Y] yojew ‘sisquinu jred Aue
pue ‘spueq I0[0D I0JSISal JBY) pUR !UONEeNSN{[l }081
-100 §11 3840 st dins ay) uo wed yoes ains ag ‘[1e1a(
fSuide], 8y ur umoys se ‘surmerp jusuodwod ay)
19a0 sdins jusuoduwod ay} ade} o) ade) Supysew asn)

“Jusuodwo)) 1Sii4 8U} [[e1su] NOA alojeg
SUOIJONJISU| 8S8Y | MO||04 Pue peay

1HVHO SLNINOdINOD a3dV.L

Page 11



